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3. O§& Breakdown
(M X9 F2(E@28)

X< FHH|S) YoY QoQ
LY 274 A(50.8%) +58.8% +0.6%
=0 1692 21(31.4%) +75.4% -9.0%
OFA|OF 38 2(7.0%) +40.2% +41.9%
3 349 (6.5%) +10.0% +12.0%
== 239 (4.3%) -30.4% -57.6%
@ ME2/d +2E2)
X< FHH|S) YoY QoQ
LIP 351 2(65.2%) +55.4% -7.9%
EYE 892 2(16.5%) -8.5% -11.0%
BASE 94 2(17.6%) +186.7% +17.4%
7|E} 491 21(0.8%) -16.3% -55.6%
B) X4 8 MHEFdE +EEZ
X4 HERd =9 N9 W MERY HS
LIP 1829 & 66.3%
EYE 6024 & 22.1%
=
BASE 309 11.0%
7|Et 29 0.6%
LIP 1039 61.1%
EYE 299 & 13%
0|
BASE 642 37.6%
7|Et B} B
LIP 1692 41.4%
EYE 209 ¥ 54.3%
OFA|OF
BASE 19¢ 2.9%
7| Et 19¢ 14%
LIP 299 ¥ 85.8%
EYE 5 14.2%
oz
g
BASE - -
7|E} B} B
LIP 2093 88.2%
== EYE 198 3.6%
7|Et 292 8.2%
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